Bid #PNC2120688B1 - Transit Shelter ADA Infrastructure Improvements

Creation Date Mar 13, 2020

Start Date Jul 14, 2020 4:18:59 PM EDT

End Date Aug 19, 2020 2:00:00 PM EDT

Awarded Date Not Yet Awarded

PNC2120688B101-01 Line Items: STAKED SILT FEN	CE, TYPE III				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$1.00	500 / linear foot	\$500.00	Y	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Continental Construction USA 👔	First Offer - \$1.00	500 / linear foot	\$500.00	Y	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Florida Engineering and Development 👔	First Offer - \$2.00	500 / linear foot	\$1,000.00	Y	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: In this item we attched the Licenses nad Certification, Equipment List, Insurance, Documentation of Goo Faith, Bidder's Assurance and Project Manager Resume.			
Interstate Construction, LLC.	First Offer - \$3.00	500 / linear foot	\$1,500.00	Y	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$10.22	500 / linear foot	\$5,110.00	Y	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PNC2120688B101-02 Line Items: CLEARING & GRUBBING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Florida Engineering and Development 👔	First Offer - \$4.00	5000 / square yard	\$20,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Continental Construction USA 👔	First Offer - \$6.00	5000 / square yard	\$30,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Big Dog Construction Services, Inc.	First Offer - \$6.08	5000 / square yard	\$30,400.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$10.00	5000 / square yard	\$50,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
C&I Construction and Design Inc.	First Offer - \$16.00	5000 / square yard	\$80,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PNC2120688B101-03 Line Items: REMOVAL OF EXISTING CONCRETE PAVEMENT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Florida Engineering and Development 👔	First Offer - \$10.00	5000 / square yard	\$50,000.00		Y		
Product Code:		Supplier Product Code:					

Agency Notes:		Supplier Notes:		
Continental Construction USA 🙀	First Offer - \$10.00	5000 / square yard	\$50,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Big Dog Construction Services, Inc.	First Offer - \$13.04	5000 / square yard	\$65,200.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Interstate Construction, LLC.	First Offer - \$15.00	5000 / square yard	\$75,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
C&I Construction and Design Inc.	First Offer - \$25.00	5000 / square yard	\$125,000.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

PNC2120688B101-04 Line Items: REGULAR EXCAVATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Big Dog Construction Services, Inc.	First Offer - \$12.96	1000 / cubic yard	\$12,960.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
C&I Construction and Design Inc. 👔	First Offer - \$15.00	1000 / cubic yard	\$15,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Florida Engineering and Development 👔	First Offer - \$15.00	1000 / cubic yard	\$15,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Continental Construction USA 👔	First Offer - \$15.00	1000 / cubic yard	\$15,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Interstate Construction, LLC.	First Offer - \$25.00	1000 / cubic yard	\$25,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PNC2120688B101-05 Line Items: EMBANKMENT (FILL)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C&I Construction and Design Inc.	First Offer - \$5.00	100 / cubic yard	\$500.00		Y			
		Supplier Product Code Supplier Notes:	:					
Continental Construction USA	First Offer - \$5.00	100 / cubic yard	\$500.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Big Dog Construction Services, Inc.	First Offer - \$12.96	100 / cubic yard	\$1,296.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Florida Engineering and Development 👔	First Offer - \$30.00	100 / cubic yard	\$3,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Interstate Construction, LLC.	First Offer - \$50.00	100 / cubic yard	\$5,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					

PNC2120688B101-06 Line Items: STABILIZED SUBBE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			

C&I Construction and Design Inc. 👔	First Offer - \$4.00	100 / square yard	\$400.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Interstate Construction, LLC.	First Offer - \$4.00	100 / square yard	\$400.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Continental Construction USA 👔	First Offer - \$4.00	100 / square yard	\$400.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Big Dog Construction Services, Inc.	First Offer - \$24.58	100 / square yard	\$2,458.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Florida Engineering and Development 🙀	First Offer - \$44.00	100 / square yard	\$4,400.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

PNC2120688B101-07 Line Items: FINISH SOIL LAYER, 6 (Furnish & Install)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C&I Construction and Design Inc. 👔	First Offer - \$1.00	4000 / square yard	\$4,000.00		Y				
		Supplier Product Code: Supplier Notes:							
Continental Construction USA 👔	First Offer - \$2.00	4000 / square yard	\$8,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Interstate Construction, LLC.	First Offer - \$4.00	4000 / square yard	\$16,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Florida Engineering and Development 👔	First Offer - \$7.80	4000 / square yard	\$31,200.00		Y				
		Supplier Product Code: Supplier Notes:							
Big Dog Construction Services, Inc.	First Offer - \$30.21	4000 / square yard	\$120,840.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PNC2120688B101-08 Line Items: REWORKING LIM	EROCK BASE, 6				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$2.00	100 / square yard	\$200.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,		
Interstate Construction, LLC.	First Offer - \$2.00	100 / square yard	\$200.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 🙀	First Offer - \$2.00	100 / square yard	\$200.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,		
Big Dog Construction Services, Inc.	First Offer - \$14.26	100 / square yard	\$1,426.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 🧕	First Offer - \$23.50	100 / square yard	\$2,350.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	I		

Γ

٦

PNC2120688B101-09 Line Items: LIMEROCK (FURNISHING, SPREADING, SHAPING, AND COMPACTING)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Big Dog Construction Services, Inc.	First Offer - \$14.26	4000 / cubic yard	\$57,040.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Florida Engineering and Development 👔	First Offer - \$16.80	4000 / cubic yard	\$67,200.00		Y				
Product Code: Agency Notes:	- -	Supplier Product Code: Supplier Notes:							
Continental Construction USA 👔	First Offer - \$45.00	4000 / cubic yard	\$180,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Interstate Construction, LLC.	First Offer - \$55.00	4000 / cubic yard	\$220,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
C&I Construction and Design Inc. 🧕	First Offer - \$65.00	4000 / cubic yard	\$260,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PNC2120688B101-10 Line Items: MILLING EXISTING ASPHALT PAVEMENT, 1 AVG DEPTH									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C&I Construction and Design Inc.	First Offer - \$1.50	200 / square yard	\$300.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Continental Construction USA 🙀	First Offer - \$1.50	200 / square yard	\$300.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Interstate Construction, LLC.	First Offer - \$3.00	200 / square yard	\$600.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Florida Engineering and Development 👔	First Offer - \$17.50	200 / square yard	\$3,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Big Dog Construction Services, Inc.	First Offer - \$20.00	200 / square yard	\$4,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PNC2120688B101-11 Line Items: MILLING EXISTING ASPHALT PAVEMENT, 2 AVG DEPTH								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C&I Construction and Design Inc.	First Offer - \$1.50	100 / square yard	\$150.00		Y			
		Supplier Product Code: Supplier Notes:						
Continental Construction USA 👔	First Offer - \$1.50	100 / square yard	\$150.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$4.00	100 / square yard	\$400.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Big Dog Construction Services, Inc.	First Offer - \$20.00	100 / square yard	\$2,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Florida Engineering and Development 🙀	First Offer - \$41.00	100 / square yard	\$4,100.00		Y			
Product Code:		Supplier Product Code:						

Agency Notes:

PNC2120688B101-12 Line Items: SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC LEVEL B								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Big Dog Construction Services, Inc.	First Offer - \$30.00	75 / ton	\$2,250.00		Y			
		Supplier Product Code: Supplier Notes:						
C&I Construction and Design Inc. 👔	First Offer - \$75.00	75 / ton	\$5,625.00		Y			
		Supplier Product Code: Supplier Notes:						
Continental Construction USA 🙀	First Offer - \$75.00	75 / ton	\$5,625.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$120.00	75 / ton	\$9,000.00		Y			
		Supplier Product Code: Supplier Notes:						
Florida Engineering and Development 👔	First Offer - \$179.00	75 / ton	\$13,425.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2120688B101-13 Line Items: SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC LEVEL C								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Big Dog Construction Services, Inc.	First Offer - \$30.00	75 / ton	\$2,250.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
C&I Construction and Design Inc.	First Offer - \$75.00	75 / ton	\$5,625.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Continental Construction USA	First Offer - \$75.00	75 / ton	\$5,625.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$120.00	75 / ton	\$9,000.00		Y			
		Supplier Product Code: Supplier Notes:						
Florida Engineering and Development 🙀	First Offer - \$179.00	75 / ton	\$13,425.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2120688B101-14 Line Items: SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC LEVEL D								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Big Dog Construction Services, Inc.	First Offer - \$32.00	75 / ton	\$2,400.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
C&I Construction and Design Inc. 👔	First Offer - \$75.00	75 / ton	\$5,625.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Continental Construction USA 👔	First Offer - \$75.00	75 / ton	\$5,625.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$120.00	75 / ton	\$9,000.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

Broward	County Board of
County	Commissioners

Florida Engineering and Development 👔	First Offer - \$179.00	75 / ton	\$13,425.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PNC2120688B1-01-15 Line Items: ASPHALT CONCRETE FRICTION COURSE, TRAFFIC LEVEL C FRICTION COURSE 9.5, PROFILE G							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Big Dog Construction Services, Inc.	First Offer - \$32.00	50 / ton	\$1,600.00		Y		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
C&I Construction and Design Inc.	First Offer - \$75.00	50 / ton	\$3,750.00		Y		
		Supplier Product Code: Supplier Notes:					
Continental Construction USA 🙀	First Offer - \$75.00	50 / ton	\$3,750.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Interstate Construction, LLC.	First Offer - \$120.00	50 / ton	\$6,000.00		Y		
		Supplier Product Code: Supplier Notes:					
Florida Engineering and Development 🙀	First Offer - \$245.00	50 / ton	\$12,250.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2120688B101-16 Line Items: ASPHALT CONCRETE FRICTION COURSE, TRAFFIC LEVEL C								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Big Dog Construction Services, Inc.	First Offer - \$32.00	50 / ton	\$1,600.00		Y			
		Supplier Product Code: Supplier Notes:						
C&I Construction and Design Inc.	First Offer - \$75.00	50 / ton	\$3,750.00		Y			
		Supplier Product Code: Supplier Notes:						
Continental Construction USA	First Offer - \$75.00	50 / ton	\$3,750.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$120.00	50 / ton	\$6,000.00		Y			
		Supplier Product Code: Supplier Notes:						
Florida Engineering and Development 👔	First Offer - \$245.00	50 / ton	\$12,250.00		Y			
		Supplier Product Code: Supplier Notes:						

PNC2120688B101-17 Line Items: MISCELLANEOUS ASPHALT PAVEMENT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Big Dog Construction Services, Inc.	First Offer - \$22.40	200 / ton	\$4,480.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Continental Construction USA 👔	First Offer - \$130.00	200 / ton	\$26,000.00		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
C&I Construction and Design Inc. 👔	First Offer - \$150.00	200 / ton	\$30,000.00		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Florida Engineering and Development 👔	First Offer - \$245.00	200 / ton	\$49,000.00		Y			

	Broward County Board of County Commissioners			Exhibit 1 ge 7 of 48
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Interstate Construction, LLC.	First Offer - \$250.00	200 / ton	\$50,000.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PNC2120688B101-18 Line Items: CONCRETE CL	ASS	I, CULVERTS				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Continental Construction USA		First Offer - \$50.00	10 / cubic yard	\$500.00		Y
Product Code:			Supplier Product Coc	de:		
Agency Notes:			Supplier Notes:			
C&I Construction and Design Inc. 👔		First Offer - \$70.00	10 / cubic yard	\$700.00		Y
Product Code:			Supplier Product Coc	le:		
Agency Notes:			Supplier Notes:			
Interstate Construction, LLC.		First Offer - \$75.00	10 / cubic yard	\$750.00		Y
Product Code:			Supplier Product Coo	le:		
Agency Notes:			Supplier Notes:			
Florida Engineering and Development 👔		First Offer - \$100.00	10 / cubic yard	\$1,000.00		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Big Dog Construction Services, Inc.		First Offer - \$654.66	10 / cubic yard	\$6,546.60		Y
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			

PNC2120688B101-19 Line Items: CONCRETE CLASS I, ENDWALLS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA 👔	First Offer - \$50.00	20 / cubic yard	\$1,000.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
C&I Construction and Design Inc. 🙀	First Offer - \$70.00	20 / cubic yard	\$1,400.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Florida Engineering and Development 🙀	First Offer - \$100.00	20 / cubic yard	\$2,000.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$200.00	20 / cubic yard	\$4,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Big Dog Construction Services, Inc.	First Offer - \$654.66	20 / cubic yard	\$13,093.20		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

PNC2120688B101-20 Line Items: CONCRETE CLASS I, SUBSTRUCTURE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C&I Construction and Design Inc.	First Offer - \$200.00	5 / cubic yard	\$1,000.00		Y				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Continental Construction USA 👔	First Offer - \$200.00	5 / cubic yard	\$1,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Interstate Construction, LLC.	First Offer - \$300.00	5 / cubic yard	\$1,500.00		Y				
Product Code:		Supplier Product Co	ode:						

Agency Notes:		Supplier Notes:				
Florida Engineering and Development 🙀	First Offer - \$500.00	5 / cubic yard	\$2,500.00		Y	
		Supplier Product Code: Supplier Notes:				
Big Dog Construction Services, Inc.	First Offer - \$654.66		\$3,273.30		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			

PNC2120688B101-21 Line Items: CONCRETE CLASS I, RETAINING WALLS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA	First Offer - \$50.00	50 / cubic yard	\$2,500.00		Y			
Product Code:	·	Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$200.00	50 / cubic yard	\$10,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Florida Engineering and Development 🙀	First Offer - \$500.00	50 / cubic yard	\$25,000.00		Y			
Product Code:	·	Supplier Product Code:						
Agency Notes:		Supplier Notes:						
C&I Construction and Design Inc.	First Offer - \$520.00	50 / cubic yard	\$26,000.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Big Dog Construction Services, Inc.	First Offer - \$654.66	50 / cubic yard	\$32,733.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

PNC2120688B101-22 Line Items: CONCRETE CLASS I, MISCELLANEOUS							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA 🙀	First Offer - \$400.00	100 / cubic yard	\$40,000.00		Y		
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					
Florida Engineering and Development 👔	First Offer - \$500.00	100 / cubic yard	\$50,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
C&I Construction and Design Inc. 🙀	First Offer - \$520.00	100 / cubic yard	\$52,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Interstate Construction, LLC.	First Offer - \$550.00	100 / cubic yard	\$55,000.00		Y		
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					
Big Dog Construction Services, Inc.	First Offer - \$654.66	100 / cubic yard	\$65,466.00		Y		
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					

PNC2120688B101-23 Line Items: CONCRETE CLASS II, RETAINING WALLS							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA 🙀	First Offer - \$50.00	20 / cubic yard	\$1,000.00		Y		
Product Code:		Supplier Product Coc	le:				
Agency Notes:		Supplier Notes:					
C&I Construction and Design Inc. 👔	First Offer - \$120.00	20 / cubic yard	\$2,400.00		Y		
Product Code:		Supplier Product Coc	le:				
Agency Notes:		Supplier Notes:					

Broward County Board of County Commissioners

First Offer - \$200.00	20 / cubic yard	\$4,000.00		Y
	Supplier Product Cod	le:		
	Supplier Notes:			
First Offer - \$525.00	20 / cubic yard	\$10,500.00		Y
	Supplier Product Cod	le:		
	Supplier Notes:			
First Offer - \$654.66	20 / cubic yard	\$13,093.20		Y
	Supplier Product Cod	le:		
	Supplier Notes:			
	First Offer - \$525.00	Supplier Product Coc Supplier Notes: First Offer - \$525.00 20 / cubic yard Supplier Product Coc Supplier Notes: First Offer - \$654.66 20 / cubic yard Supplier Notes: Supplier Product Coc Supplier Product Coc	Supplier Product Code: Supplier Notes: First Offer - \$525.00 20 / cubic yard \$10,500.00 Supplier Product Code: Supplier Notes: \$10,500.00 First Offer - \$654.66 20 / cubic yard \$13,093.20 Supplier Product Code: \$13,093.20 Supplier Product Code: \$13,093.20	Supplier Product Code: Supplier Notes: First Offer - \$525.00 20 / cubic yard \$10,500.00 Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: First Offer - \$654.66 20 / cubic yard \$13,093.20 Supplier Product Code: Supplier Product Code:

PNC2120688B101-24 Line Items: CONCRETE CLASS II, MISCELLANEOUS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C&I Construction and Design Inc.	First Offer - \$120.00	20 / cubic yard	\$2,400.00		Y			
Product Code:	·	Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Continental Construction USA 👔	First Offer - \$120.00	20 / cubic yard	\$2,400.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$200.00	20 / cubic yard	\$4,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Florida Engineering and Development 👔	First Offer - \$525.00	20 / cubic yard	\$10,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Big Dog Construction Services, Inc.	First Offer - \$654.66	20 / cubic yard	\$13,093.20		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PNC2120688B101-25 Line Items: CLEANING & SEALING CONCRETE SURFACES -PENETRANT SEALER OR METHACRYLATES								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C&I Construction and Design Inc. 🙀	First Offer - \$1.00	50 / square foot	\$50.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Continental Construction USA 🙀	First Offer - \$1.20	50 / square foot	\$60.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$5.00	50 / square foot	\$250.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Florida Engineering and Development 🙀	First Offer - \$10.00	50 / square foot	\$500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Big Dog Construction Services, Inc.	First Offer - \$20.00	50 / square foot	\$1,000.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

PNC2120688B101-26 Line Items: REINF STEEL, MISCELLANEOUS							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Big Dog Construction Services, Inc.	First Offer - \$0.25	50000 / lb	\$12,500.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Florida Engineering and Development 👔	First Offer - \$1.00	50000 / lb	\$50,000.00		Y		
	•						

Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Continental Construction USA	First Offer - \$2.25	50000 / lb	\$112,500.00		Y
		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$2.50	50000 / lb	\$125,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Interstate Construction, LLC.	First Offer - \$2.50	50000 / lb	\$125,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

PNC2120688B101-27 Line Items: INLETS, CURB, TYP	PE P-2, Less than 10					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Continental Construction USA	First Offer - \$200.00	2 / each	\$400.00		Y	
		Supplier Product Co Supplier Notes:	ode:			
C&I Construction and Design Inc. 👔	First Offer - \$500.00	2 / each	\$1,000.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Interstate Construction, LLC.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Florida Engineering and Development 👔	First Offer - \$1,000.00	2 / each	\$2,000.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Big Dog Construction Services, Inc.	First Offer - \$5,473.00	2 / each	\$10,946.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2120688B101-28 Line Items: INLETS, CURB, TYPE P-2, PARTIAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA 🙀	First Offer - \$200.00	2 / each	\$400.00		Y			
		Supplier Product Co Supplier Notes:	ode:					
C&I Construction and Design Inc.	First Offer - \$500.00	2 / each	\$1,000.00		Y			
		Supplier Product Code: Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Florida Engineering and Development 🙀	First Offer - \$2,500.00	2 / each	\$5,000.00		Y			
		Supplier Product Code: Supplier Notes:						
Big Dog Construction Services, Inc.	First Offer - \$5,473.00	2 / each	\$10,946.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2120688B101-29 Line Items: INLETS, CURB, TYPE P-5, Less than 10						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Continental Construction USA 🙀	First Offer - \$200.00	2 / each	\$400.00		Y	
Product Code:	Supplier Product Co	ode:				

Agency Notes: Su		Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$500.00	2 / each	\$1,000.00		Y
		Supplier Product Co Supplier Notes:	ode:		
Interstate Construction, LLC.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$1,000.00	2 / each	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Big Dog Construction Services, Inc.	First Offer - \$5,473.00	2 / each	\$10,946.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2120688B101-30 Line Items: INLETS, CURB, TY	PE P-5, PARTIAL					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Continental Construction USA 🙀	First Offer - \$200.00	2 / each	\$400.00		Y	
		Supplier Product Co Supplier Notes:	ode:			
C&I Construction and Design Inc.	First Offer - \$500.00	2 / each	\$1,000.00		Y	
		Supplier Product Code: Supplier Notes:				
Interstate Construction, LLC.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Florida Engineering and Development 🙀	First Offer - \$2,000.00	2 / each	\$4,000.00		Y	
		Supplier Product Co Supplier Notes:	ode:			
Big Dog Construction Services, Inc.	First Offer - \$5,210.00	2 / each	\$10,420.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2120688B101-31 Line Items: INLETS, CURB, TYP	PE P-5, MODIFY					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Continental Construction USA 👔	First Offer - \$200.00	2 / each	\$400.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
C&l Construction and Design Inc.	First Offer - \$500.00	2 / each	\$1,000.00		Y	
Product Code:		Supplier Product Code: Supplier Notes:				
Interstate Construction, LLC.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Florida Engineering and Development 👔	First Offer - \$1,000.00	2 / each	\$2,000.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Big Dog Construction Services, Inc.	First Offer - \$5,010.00	2 / each	\$10,020.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2120688B101-32 Line Items: INLETS, CURB, TY	/PE P-6, Less than 10				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

Continental Construction USA 🙀	First Offer - \$200.00	2 / each	\$400.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
C&I Construction and Design Inc.	First Offer - \$500.00	2 / each	\$1,000.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Interstate Construction, LLC.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Florida Engineering and Development 👔	First Offer - \$1,000.00	2 / each	\$2,000.00		Y	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Big Dog Construction Services, Inc.	First Offer - \$5,010.00	2 / each	\$10,020.00		Y	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

PNC2120688B101-33 Line Items: INLETS, CURB, TY	PE P-6, PARTIAL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Continental Construction USA 🙀	First Offer - \$200.00	2 / each	\$400.00		Y
		Supplier Product Co Supplier Notes:	ode:		
C&I Construction and Design Inc. 👔	First Offer - \$500.00	2 / each	\$1,000.00		Y
Product Code:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 🙀	First Offer - \$2,500.00	2 / each	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Big Dog Construction Services, Inc.	First Offer - \$4,700.00	2 / each	\$9,400.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2120688B101-34 Line Items: INLETS, DITCH BO	TTOM, TYPE A, Less than	10				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Continental Construction USA 🙀	First Offer - \$200.00	2 / each	\$400.00		Y	
		Supplier Product Co Supplier Notes:	ode:			
C&I Construction and Design Inc. 👔	First Offer - \$500.00	2 / each	\$1,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Interstate Construction, LLC.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Florida Engineering and Development 👔	First Offer - \$1,000.00	2 / each	\$2,000.00		Y	
		Supplier Product Co Supplier Notes:	ode:			
Big Dog Construction Services, Inc.	First Offer - \$4,700.00	2 / each	\$9,400.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Γ

PNC2120688B101-35 Line Items: INLETS, DITCH BC	TTOM, TYPE B, Less than	10				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Continental Construction USA 🙀	First Offer - \$200.00	2 / each	\$400.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
C&I Construction and Design Inc. 👔	First Offer - \$500.00	2 / each	\$1,000.00		Y	
Product Code:		Supplier Product Co Supplier Notes:	ode:			
Interstate Construction, LLC.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Florida Engineering and Development 👔	First Offer - \$1,000.00	2 / each	\$2,000.00		Y	
		Supplier Product Co Supplier Notes:	ode:			
Big Dog Construction Services, Inc.	First Offer - \$4,700.00	2 / each	\$9,400.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2120688B101-36 Line Items: INLETS, DITCH BOTTOM, TYPE C, Less than 10								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA 🙀	First Offer - \$200.00	2 / each	\$400.00		Y			
		Supplier Product Co Supplier Notes:	ode:					
C&I Construction and Design Inc. 👔	First Offer - \$500.00	2 / each	\$1,000.00		Y			
Product Code:		Supplier Product Code: Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Florida Engineering and Development 🙀	First Offer - \$1,000.00	2 / each	\$2,000.00		Y			
		Supplier Product Co Supplier Notes:	ode:					
Big Dog Construction Services, Inc.	First Offer - \$4,700.00	2 / each	\$9,400.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2120688B101-37 Line Items: INLETS, SPECIAL,	MODIFY				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Continental Construction USA 🙀	First Offer - \$200.00	2 / each	\$400.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
C&I Construction and Design Inc. 👔	First Offer - \$500.00	2 / each	\$1,000.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 🙀	First Offer - \$1,000.00	2 / each	\$2,000.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$6,937.30	2 / each	\$13,874.60		Y
Product Code:		Supplier Product Co	ode:		

Supplier Notes:

Agency Notes:

PNC2120688B101-38 Line Items: INLETS, CLOSED FI	LUME, N/A				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Continental Construction USA	First Offer - \$150.00	4 / each	\$600.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C&I Construction and Design Inc.	First Offer - \$500.00	4 / each	\$2,000.00		Y
		Supplier Product Co Supplier Notes:	ode:		
Interstate Construction, LLC.	First Offer - \$1,000.00	4 / each	\$4,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$2,500.00	4 / each	\$10,000.00		Y
		Supplier Product Co Supplier Notes:	ode:		
Big Dog Construction Services, Inc.	First Offer - \$5,110.00	4 / each	\$20,440.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2120688B101-39 Line Items: MANHOLES, P-	8, Less than 10				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Continental Construction USA 👔	First Offer - \$200.00	2 / each	\$400.00		Y
Product Code:	Supplier Product C	ode:			
Agency Notes:		Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$250.00	2 / each	\$500.00		Y
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$1,000.00	2 / each	\$2,000.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$5,802.00	2 / each	\$11,604.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

PNC2120688B101-40 Line Items: MANHOLES, SPECIAL, Less than 10								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA	First Offer - \$200.00	2 / each	\$400.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
C&I Construction and Design Inc.	First Offer - \$250.00	2 / each	\$500.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Interstate Construction, LLC.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Florida Engineering and Development 👔	First Offer - \$1,000.00	2 / each	\$2,000.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

	Broward County Board County Commissioner	Exhibit 1 Page 15 of 48			38B1	
Big Dog Construction Services, Inc.	First Offer - \$5,802.00	2 / each	\$11,604.00		Y	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

PNC2120688B101-41 Line Items: INLETS, ADJUST					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc.	First Offer - \$80.00	8 / each	\$640.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Continental Construction USA 👔	First Offer - \$80.00	8 / each	\$640.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Interstate Construction, LLC.	First Offer - \$500.00	8 / each	\$4,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Florida Engineering and Development 👔	First Offer - \$850.00	8 / each	\$6,800.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Big Dog Construction Services, Inc.	First Offer - \$5,273.00	8 / each	\$42,184.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2120688B101-42 Line Items: MANHOLE, ADJUS	ST				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Continental Construction USA 🙀	First Offer - \$50.00	10 / each	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C&I Construction and Design Inc.	First Offer - \$80.00	10 / each	\$800.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Interstate Construction, LLC.	First Offer - \$500.00	10 / each	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Florida Engineering and Development 🙀	First Offer - \$850.00	10 / each	\$8,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Big Dog Construction Services, Inc.	First Offer - \$5,802.30	10 / each	\$58,023.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2120688B101-43 Line Items: VALVE BOXES, A	DJUST				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$50.00	10 / each	\$500.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Continental Construction USA 👔	First Offer - \$70.00	10 / each	\$700.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$250.00	10 / each	\$2,500.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$350.00	10 / each	\$3,500.00		Y

Broward	County	Board of
County	Commis	ssioners

Product Code:	2	Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Big Dog Construction Services, Inc.	First Offer - \$3,590.60	10 / each	\$35,906.00	Y
Product Code:	·	Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PNC2120688B101-44 Line Items: DRAINAGE STRUCTURES, MISCELLANEOUS, ADJUST								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA 👔	First Offer - \$70.00	3 / each	\$210.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
C&I Construction and Design Inc.	First Offer - \$100.00	3 / each	\$300.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Interstate Construction, LLC.	First Offer - \$250.00	3 / each	\$750.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Florida Engineering and Development 👔	First Offer - \$850.00	3 / each	\$2,550.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Big Dog Construction Services, Inc.	First Offer - \$5,902.30	3 / each	\$17,706.90		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2120688B101-45 Line Items: YARD DRAIN					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc.	First Offer - \$100.00	2 / each	\$200.00		Y
Product Code:	·	Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Continental Construction USA 👔	First Offer - \$100.00	2 / each	\$200.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Interstate Construction, LLC.	First Offer - \$300.00	2 / each	\$600.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$1,500.00	2 / each	\$3,000.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$3,263.00	2 / each	\$6,526.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

PNC2120688B101-46 Line Items: INLETS RELOCAT	ING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 🙀	First Offer - \$100.00	2 / each	\$200.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Continental Construction USA 🙀	First Offer - \$100.00	2 / each	\$200.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$500.00	2 / each	\$1,000.00		Y
Product Code:		Supplier Product C	ode:		

Agency Notes:		Supplier Notes:		
Interstate Construction, LLC.	First Offer - \$1,250.00	2 / each	\$2,500.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Big Dog Construction Services, Inc.	First Offer - \$2,275.00	2 / each	\$4,550.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

PNC2120688B101-47 Line Items: PIPE CULVERT, OPTIONAL MATERIAL, ROUND, 0-24 STORM DRAIN								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Florida Engineering and Development 👔	First Offer - \$35.00	75 / linear foot	\$2,625.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Continental Construction USA	First Offer - \$45.00	75 / linear foot	\$3,375.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
C&I Construction and Design Inc.	First Offer - \$50.00	75 / linear foot	\$3,750.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$75.00	75 / linear foot	\$5,625.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Big Dog Construction Services, Inc.	First Offer - \$229.63	75 / linear foot	\$17,222.25		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

PNC2120688B101-48 Line Items: PIPE CULVERT, OPTIONAL MATERIAL, OTHER - ELLIPTICAL/ARCH, 0-24 STORM DRAIN							
Supplier	Unit Price	Qty/Unit	Attch.	Docs			
Florida Engineering and Development 👔	First Offer - \$45.00	75 / linear foot	\$3,375.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:				
Continental Construction USA 👔	First Offer - \$45.00	75 / linear foot	\$3,375.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
C&I Construction and Design Inc. 👔	First Offer - \$50.00	75 / linear foot	\$3,750.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:				
Interstate Construction, LLC.	First Offer - \$75.00	75 / linear foot	\$5,625.00		Y		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		e:				
Big Dog Construction Services, Inc.	First Offer - \$229.63	75 / linear foot	\$17,222.25		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:				

PNC2120688B101-49 Line Items: PIPE SLOTTED OR PERFORATED CULV, OPTIONAL, 15 STAINLESS STEEL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA 🙀	First Offer - \$45.00	50 / linear foot	\$2,250.00		Y		
Product Code:		Supplier Product Coc	le:				
Agency Notes:		Supplier Notes:					
C&I Construction and Design Inc. 👔	First Offer - \$50.00	50 / linear foot	\$2,500.00		Y		
Product Code:		Supplier Product Coc	le:				
Agency Notes:		Supplier Notes:					

Florida Engineering and Development 🙀	First Offer - \$80.00	50 / linear foot	\$4,000.00	Y
Product Code:		Supplier Product Coc	le:	
Agency Notes:		Supplier Notes:		
Interstate Construction, LLC.	First Offer - \$85.00	50 / linear foot	\$4,250.00	Y
Product Code:		Supplier Product Coc	le:	
Agency Notes:		Supplier Notes:		
Big Dog Construction Services, Inc.	First Offer - \$221.31	50 / linear foot	\$11,065.50	Y
Product Code:		Supplier Product Coc	le:	
Agency Notes:		Supplier Notes:		

PNC2120688B101-50 Line Items: PIPE SLOTTED OR PERFORATED CULV, OPTIONAL, 18 STAINLESS STEEL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA 👔	First Offer - \$45.00	50 / linear foot	\$2,250.00		Y			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:					
C&I Construction and Design Inc. 👔	First Offer - \$50.00	50 / linear foot	\$2,500.00		Y			
Product Code: Agency Notes:	- -	Supplier Product Cod Supplier Notes:	e:					
Florida Engineering and Development 👔	First Offer - \$85.00	50 / linear foot	\$4,250.00		Y			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:					
Interstate Construction, LLC.	First Offer - \$95.00	50 / linear foot	\$4,750.00		Y			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:					
Big Dog Construction Services, Inc.	First Offer - \$241.31	50 / linear foot	\$12,065.50		Y			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:					

PNC2120688B101-51 Line Items: PIPE SLOTED OR PERFORATED CULV, OPTIONAL, 24 STAINLESS STEEL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA 👔	First Offer - \$45.00	50 / linear foot	\$2,250.00		Y		
Product Code:		Supplier Product Coo	le:				
Agency Notes:		Supplier Notes:					
C&I Construction and Design Inc. 🙀	First Offer - \$50.00	50 / linear foot	\$2,500.00		Y		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					
Florida Engineering and Development 🙀	First Offer - \$90.00	50 / linear foot	\$4,500.00		Y		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					
Interstate Construction, LLC.	First Offer - \$95.00	50 / linear foot	\$4,750.00		Y		
Product Code:		Supplier Product Coc	le:				
Agency Notes:		Supplier Notes:					
Big Dog Construction Services, Inc.	First Offer - \$241.31	50 / linear foot	\$12,065.50		Y		
Product Code:		Supplier Product Coo	le:				
Agency Notes:		Supplier Notes:					

PNC2120688B101-52 Line Items: MITERED END SECTION, OPTIONAL ROUND, 12 CROSS DRAIN							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA 👔	First Offer - \$45.00	4 / each	\$180.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
C&I Construction and Design Inc. 👔	First Offer - \$50.00	4 / each	\$200.00		Y		

Broward County Board of County Commissioners

Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Interstate Construction, LLC.	First Offer - \$500.00	4 / each	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	· · · ·	
Florida Engineering and Development 👔	First Offer - \$500.00	4 / each	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Big Dog Construction Services, Inc.	First Offer - \$500.00	4 / each	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2120688B101-53 Line Items: MITERED END SECTION, OPTIONAL ROUND OR ELLIPTICAL, 15 CROSS DRAIN							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA 🙀	First Offer - \$45.00	4 / each	\$180.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
C&I Construction and Design Inc. 🙀	First Offer - \$50.00	4 / each	\$200.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Interstate Construction, LLC.	First Offer - \$300.00	4 / each	\$1,200.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Big Dog Construction Services, Inc.	First Offer - \$500.00	4 / each	\$2,000.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Florida Engineering and Development 🙀	First Offer - \$525.00	4 / each	\$2,100.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

PNC2120688B101-54 Line Items: MITERED END SECTION, OPTIONAL ROUND OR ELLIPTICAL, 18 CROSS DRAIN								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Continental Construction USA 🙀	First Offer - \$45.00	4 / each	\$180.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
C&I Construction and Design Inc. 👔	First Offer - \$50.00	4 / each	\$200.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Interstate Construction, LLC.	First Offer - \$300.00	4 / each	\$1,200.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Big Dog Construction Services, Inc.	First Offer - \$500.00	4 / each	\$2,000.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Florida Engineering and Development 🧕	First Offer - \$550.00	4 / each	\$2,200.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2120688B101-55 Line Items: MITERED END SECTION, OPTIONAL ROUND OR ELLIPTICAL, 24 CROSS DRAIN							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA 👔	First Offer - \$45.00	4 / each	\$180.00		Y		
Product Code:		Supplier Product Co	ode:				

Agency Notes:		Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$50.00	4 / each	\$200.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	ż	
Interstate Construction, LLC.	First Offer - \$300.00	4 / each	\$1,200.00	Y	
		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$500.00	4 / each	\$2,000.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Florida Engineering and Development 🙀	First Offer - \$600.00	4 / each	\$2,400.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2120688B101-56 Line Items: FRENCH DRAIN, 1	8				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 🙀	First Offer - \$60.00	50 / linear foot	\$3,000.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Continental Construction USA 👔	First Offer - \$60.00	50 / linear foot	\$3,000.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 🙀	First Offer - \$80.00	50 / linear foot	\$4,000.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$85.00	50 / linear foot	\$4,250.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$148.41	50 / linear foot	\$7,420.50		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

PNC2120688B101-57 Line Items: FRENCH DRAIN, 24	1				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc.	First Offer - \$60.00	50 / linear foot	\$3,000.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Continental Construction USA 👔	First Offer - \$60.00	50 / linear foot	\$3,000.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$85.00	50 / linear foot	\$4,250.00		Y
Product Code:	·	Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$100.00	50 / linear foot	\$5,000.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$160.20	50 / linear foot	\$8,010.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

PNC2120688B101-58 Line Items: BALLAST ROCK, FRENCH DRAIN AGGREGRATE						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

First Offer - \$50.00	50 / cubic yard	\$2,500.00		Y
	1	le:		
	Supplier Notes:			
First Offer - \$60.00	50 / cubic yard	\$3,000.00		Y
	Supplier Product Cod	le:		
	Supplier Notes:			
First Offer - \$60.00	50 / cubic yard	\$3,000.00		Y
	Supplier Product Cod	le:		
	Supplier Notes:			
First Offer - \$60.00	50 / cubic yard	\$3,000.00		Y
	Supplier Product Cod	le:		
	Supplier Notes:			
First Offer - \$123.50	50 / cubic yard	\$6,175.00		Y
	Supplier Product Cod	le:		
	Supplier Notes:			
	First Offer - \$60.00 First Offer - \$60.00 First Offer - \$60.00 First Offer - \$60.00	Supplier Product Cod Supplier Notes: First Offer - \$60.00 50 / cubic yard Supplier Product Cod Supplier Notes: First Offer - \$60.00 50 / cubic yard Supplier Product Cod Supplier Notes: First Offer - \$60.00 50 / cubic yard First Offer - \$60.00 50 / cubic yard Supplier Product Cod Supplier Notes: First Offer - \$60.00 50 / cubic yard Supplier Product Cod Supplier Notes: First Offer - \$123.50 50 / cubic yard Supplier Product Cod Supplier Notes: First Offer - \$123.50 Supplier Product Cod Supplier Notes:	Supplier Product Code: Supplier Notes: First Offer - \$60.00 50 / cubic yard \$3,000.00 Supplier Product Code: Supplier Notes: \$3,000.00 First Offer - \$60.00 50 / cubic yard \$3,000.00 Supplier Product Code: Supplier Product Code: \$3,000.00 Supplier Product Code: Supplier Notes: \$3,000.00 First Offer - \$60.00 50 / cubic yard \$3,000.00 First Offer - \$60.00 50 / cubic yard \$3,000.00 Supplier Product Code: Supplier Notes: \$3,000.00 First Offer - \$123.50 50 / cubic yard \$6,175.00 Supplier Product Code: Supplier Product Code: \$0 / cubic yard First Offer - \$123.50 50 / cubic yard \$6,175.00	Supplier Product Code: Supplier Notes: Supplier Notes: First Offer - \$60.00 50 / cubic yard \$3,000.00 Supplier Product Code: Supplier Notes: First Offer - \$60.00 50 / cubic yard \$3,000.00 Supplier Product Code: Supplier Notes: First Offer - \$60.00 50 / cubic yard \$3,000.00 Supplier Product Code: Supplier Notes: First Offer - \$60.00 50 / cubic yard \$3,000.00 Supplier Product Code: Supplier Notes: First Offer - \$60.00 50 / cubic yard \$3,000.00 Supplier Product Code: Supplier Notes: First Offer - \$123.50 50 / cubic yard \$6,175.00 Supplier Product Code: Supplier Product Code:

PNC2120688B101-59 Line Items: PLASTIC FILTER F	ABRIC, SUBSURFACE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 🙀	First Offer - \$1.00	500 / square yard	\$500.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Continental Construction USA 🙀	First Offer - \$1.00	500 / square yard	\$500.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$3.00	500 / square yard	\$1,500.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 🙀	First Offer - \$5.00	500 / square yard	\$2,500.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$6.00	500 / square yard	\$3,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PNC2120688B101-60 Line Items: PIPE HANDRAIL - GUIDERAIL, STEEL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Interstate Construction, LLC.	First Offer - \$100.00	300 / linear foot	\$30,000.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Florida Engineering and Development 👔	First Offer - \$100.00	300 / linear foot	\$30,000.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
C&I Construction and Design Inc. 👔	First Offer - \$120.00	300 / linear foot	\$36,000.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Continental Construction USA 👔	First Offer - \$120.00	300 / linear foot	\$36,000.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Big Dog Construction Services, Inc.	First Offer - \$120.00	300 / linear foot	\$36,000.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

Γ

PNC2120688B101-61 Line Items: PIPE HANDRAIL -	GUIDERAIL, ALUMINUN	1			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Florida Engineering and Development 👔	First Offer - \$100.00	300 / linear foot	\$30,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
Interstate Construction, LLC.	First Offer - \$105.00	300 / linear foot	\$31,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
C&I Construction and Design Inc.	First Offer - \$120.00	300 / linear foot	\$36,000.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Continental Construction USA 👔	First Offer - \$120.00	300 / linear foot	\$36,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
Big Dog Construction Services, Inc.	First Offer - \$120.00	300 / linear foot	\$36,000.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			

PNC2120688B101-62 Line Items: PEDESTRIAN, BICYCLE RAILING, NON SPECIFIED, 42 PICKET RAIL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C&I Construction and Design Inc. 👔	First Offer - \$30.00	300 / linear foot	\$9,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	x						
Continental Construction USA 👔	First Offer - \$30.00	300 / linear foot	\$9,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:							
Interstate Construction, LLC.	First Offer - \$105.00	300 / linear foot	\$31,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Florida Engineering and Development 👔	First Offer - \$125.00	300 / linear foot	\$37,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:							
Big Dog Construction Services, Inc.	First Offer - \$150.00	300 / linear foot	\$45,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:							

PNC2120688B101-63 Line Items: ADDITON OF CUI	RB AND GUTTER TYPE E				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$15.00	150 / linear foot	\$2,250.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Continental Construction USA 🙀	First Offer - \$15.00	150 / linear foot	\$2,250.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Interstate Construction, LLC.	First Offer - \$20.00	150 / linear foot	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Florida Engineering and Development 🙀	First Offer - \$24.00	150 / linear foot	\$3,600.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PNC2120688B1--01-64 Line Items: ADDITION OF CURB AND GUTTER TYPE F

	County Commissi				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Florida Engineering and Development 🙀	First Offer - \$30.00	4000 / linear foot	\$120,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$38.44	4000 / linear foot	\$153,760.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 🙀	First Offer - \$40.00	4000 / linear foot	\$160,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:		
C&I Construction and Design Inc. 🙀	First Offer - \$43.00	4000 / linear foot	\$172,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$55.00	4000 / linear foot	\$220,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120688B101-65 Line Items: ADDITION OF CU	RB TYPE D				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Florida Engineering and Development 🧕	First Offer - \$22.00	1500 / linear foot	\$33,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc. 🙀	First Offer - \$40.00	1500 / linear foot	\$60,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$40.00	1500 / linear foot	\$60,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$43.72	1500 / linear foot	\$65,580.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$45.00	1500 / linear foot	\$67,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120688B101-66 Line Items: VALLEY GUTTER - 0	CONCRETE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc.	First Offer - \$20.00	200 / linear foot	\$4,000.00		Y
Product Code:	1	Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Continental Construction USA 👔	First Offer - \$20.00	200 / linear foot	\$4,000.00		Y
Product Code:		Supplier Product Code	2		
Agency Notes:		Supplier Notes:			
Florida Engineering and Development	First Offer - \$28.00	200 / linear foot	\$5,600.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$30.00	200 / linear foot	\$6,000.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$41.88	200 / linear foot	\$8,376.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			

PNC2120688B101-67 Line Items: CONCRETE, MATERIAL AND INSTALLATION (12�) THICK							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Big Dog Construction Services, Inc.	First Offer - \$65.66	1500 / square yard	\$98,490.00		Y		
		Supplier Product Code: Supplier Notes:					
Continental Construction USA	First Offer - \$150.00	1500 / square yard	\$225,000.00		Y		
		Supplier Product Code: Supplier Notes:		·			
Interstate Construction, LLC.	First Offer - \$160.00	1500 / square yard	\$240,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
C&I Construction and Design Inc. 👔	First Offer - \$170.00	1500 / square yard	\$255,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Florida Engineering and Development 🙀	First Offer - \$180.00	1500 / square yard	\$270,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

PNC2120688B101-68 Line Items: CONCRETE, MATERIAL AND INSTALLATION (6�) THICK							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Big Dog Construction Services, Inc.	First Offer - \$48.91	6000 / square yard	\$293,460.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Continental Construction USA 👔	First Offer - \$75.00	6000 / square yard	\$450,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
C&I Construction and Design Inc. 👔	First Offer - \$86.50	6000 / square yard	\$519,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Interstate Construction, LLC.	First Offer - \$90.00	6000 / square yard	\$540,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Florida Engineering and Development 🙀	First Offer - \$95.00	6000 / square yard	\$570,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PNC2120688B101-69 Line Items: CONCRETE, MAT	ERIAL AND INSTALLATIO	ON (9�) THICK			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Big Dog Construction Services, Inc.	First Offer - \$58.67	400 / square yard	\$23,468.00		Y
		Supplier Product Code: Supplier Notes:			
Continental Construction USA	First Offer - \$60.00	400 / square yard	\$24,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$90.00	400 / square yard	\$36,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$95.00	400 / square yard	\$38,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc.	First Offer - \$130.00	400 / square yard	\$52,000.00		Y

Product	Code:
Agency	Notes:

Supplier Product Code: Supplier Notes:

PNC2120688B101-70 Line Items: PATTERNED / TEXTURED PAVEMENT, CONCRETE								
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs			
C&I Construction and Design Inc. 👔	First Offer - \$35.00	25 / square yard	\$875.00		Y			
		Supplier Product Code: Supplier Notes:						
Continental Construction USA 👔	First Offer - \$35.00	25 / square yard	\$875.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Interstate Construction, LLC.	First Offer - \$40.00	25 / square yard	\$1,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Big Dog Construction Services, Inc.	First Offer - \$90.00	25 / square yard	\$2,250.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Florida Engineering and Development 👔	First Offer - \$200.00	25 / square yard	\$5,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					

PNC2120688B101-71 Line Items: CONCRETE SLOP	E PAVEMENT, 6, REINFO	RCED			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 🙀	First Offer - \$35.00	25 / square yard	\$875.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Continental Construction USA 👔	First Offer - \$35.00	25 / square yard	\$875.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$40.00	25 / square yard	\$1,000.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$78.00	25 / square yard	\$1,950.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 🙀	First Offer - \$300.00	25 / square yard	\$7,500.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

PNC2120688B101-72 Line Items: PAVERS, ARCHITECTURAL, ROADWAY							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C&I Construction and Design Inc. 👔	First Offer - \$15.00	25 / square yard	\$375.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Continental Construction USA 👔	First Offer - \$15.00	25 / square yard	\$375.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Interstate Construction, LLC.	First Offer - \$20.00	25 / square yard	\$500.00		Υ		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Big Dog Construction Services, Inc.	First Offer - \$90.00	25 / square yard	\$2,250.00		Y		
Product Code:		Supplier Product Code	:				
		[

Broward County Boa County Commission			Exhibit 1 Page 26 of 48		88B1
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$100.00	25 / square yard	\$2,500.00	Y	
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

PNC2120688B101-73 Line Items: PAVERS, ARC	HITECTURAL, SIDEWALK				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$15.00	25 / square yard	\$375.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Continental Construction USA	First Offer - \$30.00	25 / square yard	\$750.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$35.00	25 / square yard	\$875.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$80.00	25 / square yard	\$2,000.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$90.00	25 / square yard	\$2,250.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

PNC2120688B101-74 Line Items: PAVERS, ARCHITECTURAL, SIDEWALK WITH CUSTOM DESIGN								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C&I Construction and Design Inc. 🙀	First Offer - \$30.00	20 / square yard	\$600.00		Y			
		Supplier Product Code Supplier Notes:	:					
Continental Construction USA 🙀	First Offer - \$30.00	20 / square yard	\$600.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:	·				
Interstate Construction, LLC.	First Offer - \$35.00	20 / square yard	\$700.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Big Dog Construction Services, Inc.	First Offer - \$95.00	20 / square yard	\$1,900.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Florida Engineering and Development 🙀	First Offer - \$120.00	20 / square yard	\$2,400.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					

PNC2120688B101-75 Line Items: PAVERS, ARCHITECTURAL, SIDEWALK, PERMEABLE PAVER						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
C&I Construction and Design Inc. 👔	First Offer - \$30.00	20 / square yard	\$600.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			
Continental Construction USA 🙀	First Offer - \$30.00	20 / square yard	\$600.00		Y	
		Supplier Product Code: Supplier Notes:				
Interstate Construction, LLC.	First Offer - \$35.00	20 / square yard	\$700.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:			
		İ				

	Broward County Board of County Commissioners		Exhibit 1 Page 27 of 48			88B1	
Florida Engineering and Development 👔		First Offer - \$90.00	20 / square yard	\$1,800.00		Y	
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:			
Big Dog Construction Services, Inc.		First Offer - \$90.00	20 / square yard	\$1,800.00		Y	
Product Code:			Supplier Product Code	:			
Agency Notes:			Supplier Notes:				

PNC2120688B101-76 Line Items: PAVERS, ARCHITECTURAL, SIDEWALK, PERMEABLE PAVER WITH CUSTOM DESIGN							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C&I Construction and Design Inc. 👔	First Offer - \$30.00	20 / square yard	\$600.00		Y		
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes:	:				
Continental Construction USA 👔	First Offer - \$30.00	20 / square yard	\$600.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				
Interstate Construction, LLC.	First Offer - \$35.00	20 / square yard	\$700.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Big Dog Construction Services, Inc.	First Offer - \$90.00	20 / square yard	\$1,800.00		Y		
Product Code:		Supplier Product Code: Supplier Notes:					
Florida Engineering and Development 👔	First Offer - \$130.00	20 / square yard	\$2,600.00		Y		
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes:	:				

PNC2120688B101-77 Line Items: PAVERS, ARCHITECTURAL, SIDEWALK, With SHELL AGGREGATE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C&I Construction and Design Inc.	First Offer - \$30.00	20 / square yard	\$600.00		Y		
Product Code: Agency Notes:	·	Supplier Product Code Supplier Notes:	:				
Continental Construction USA	First Offer - \$30.00	20 / square yard	\$600.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				
Interstate Construction, LLC.	First Offer - \$35.00	20 / square yard	\$700.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				
Big Dog Construction Services, Inc.	First Offer - \$95.00	20 / square yard	\$1,900.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				
Florida Engineering and Development 🙀	First Offer - \$150.00	20 / square yard	\$3,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				

PNC2120688B101-78 Line Items: PAVERS, ARCHITECTURAL, SIDEWALK, With RECYCLE GLASS AGGREGATE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C&I Construction and Design Inc. 👔	First Offer - \$30.00	20 / square yard	\$600.00		Y		
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					
Continental Construction USA 🙀	First Offer - \$30.00	20 / square yard	\$600.00		Y		
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					
Interstate Construction, LLC.	First Offer - \$35.00	20 / square yard	\$700.00		Y		

Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:		
Big Dog Construction Services, Inc.	First Offer - \$92.50	20 / square yard	\$1,850.00	Y	
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$150.00	20 / square yard	\$3,000.00	Y	
Product Code:		Supplier Product Code	5:		
Agency Notes:		Supplier Notes:			

PNC2120688B101-79 Line Items: DETECTABLE WARNING ï٤½ RETROFIT (Furnish & Install)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C&I Construction and Design Inc. 👔	First Offer - \$10.00	300 / square yard	\$3,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Continental Construction USA 👔	First Offer - \$10.00	300 / square yard	\$3,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$40.00	300 / square yard	\$12,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Big Dog Construction Services, Inc.	First Offer - \$100.00	300 / square yard	\$30,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Florida Engineering and Development 👔	First Offer - \$315.00	300 / square yard	\$94,500.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PNC2120688B101-80 Line Items: DETECTABLE WARNING ïزغ NEW CONSTRUCTION PRECAST TILE (Furnish & Install)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C&I Construction and Design Inc. 👔	First Offer - \$25.00	300 / square yard	\$7,500.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Continental Construction USA 🙀	First Offer - \$25.00	300 / square yard	\$7,500.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Interstate Construction, LLC.	First Offer - \$55.00	300 / square yard	\$16,500.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Big Dog Construction Services, Inc.	First Offer - \$100.00	300 / square yard	\$30,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Florida Engineering and Development 🙀	First Offer - \$270.00	300 / square yard	\$81,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

PNC2120688B101-81 Line Items: GUARDRAIL-ROADWAY						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Continental Construction USA 👔	First Offer - \$25.00	100 / linear foot	\$2,500.00		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
C&I Construction and Design Inc. 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y	
Product Code:		Supplier Product Code	e:			

Agency Notes:		Supplier Notes:		
Interstate Construction, LLC.	First Offer - \$40.00	100 / linear foot	\$4,000.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Florida Engineering and Development 🙀	First Offer - \$40.00	100 / linear foot	\$4,000.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Big Dog Construction Services, Inc.	First Offer - \$150.00	100 / linear foot	\$15,000.00	Y
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

PNC2120688B101-82 Line Items: GUARDRAIL, ROA	ADWAY, WITH RUB RAIL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Continental Construction USA 🙀	First Offer - \$25.00	100 / linear foot	\$2,500.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
C&I Construction and Design Inc. 👔	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$35.00	100 / linear foot	\$3,500.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$50.00	100 / linear foot	\$5,000.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$165.00	100 / linear foot	\$16,500.00		Y
Product Code:		Supplier Product Code	2:		
Agency Notes:		Supplier Notes:			

PNC2120688B101-83 Line Items: GUARDRAIL-SHO	P-BENT PANELS				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Interstate Construction, LLC.	First Offer - \$25.00	100 / linear foot	\$2,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:			
Continental Construction USA 👔	First Offer - \$25.00	100 / linear foot	\$2,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
C&I Construction and Design Inc.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::		
Florida Engineering and Development 👔	First Offer - \$60.00	100 / linear foot	\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Big Dog Construction Services, Inc.	First Offer - \$200.00	100 / linear foot	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PNC2120688B101-84 Line Items: GUARDRAIL REMOVAL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Florida Engineering and Development 👔	First Offer - \$6.00	100 / linear foot	\$600.00		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

	Broward County Board of County Commissioners		Page	Exhibit 1 30 of 48 PNC2120688E
Interstate Construction, LLC.	First Offer - \$11.00	100 / linear foot	\$1,100.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	
Continental Construction USA	First Offer - \$25.00	100 / linear foot	\$2,500.00	Y
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
C&I Construction and Design Inc.	First Offer - \$30.00	100 / linear foot	\$3,000.00	Y
Product Code:		Supplier Product Code	e:	·
Agency Notes:		Supplier Notes:		
Big Dog Construction Services, Inc.	First Offer - \$178.00	100 / linear foot	\$17,800.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:	

PNC2120688B101-85 Line Items: GUARDRAIL END ANCHORAGE ASSEMBLY-TYPE II							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA	First Offer - \$30.00	4 / each	\$120.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
C&I Construction and Design Inc. 🙀	First Offer - \$50.00	4 / each	\$200.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Florida Engineering and Development 🙀	First Offer - \$2,500.00	4 / each	\$10,000.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Big Dog Construction Services, Inc.	First Offer - \$2,500.00	4 / each	\$10,000.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Interstate Construction, LLC.	First Offer - \$3,000.00	4 / each	\$12,000.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

PNC2120688B101-86 Line Items: GUARDRAIL END ANCHORAGE ASSEMBLY-TYPE Controlled ReleAssemblye Terminal							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Continental Construction USA	First Offer - \$30.00	4 / each	\$120.00		Y		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		ode:				
C&I Construction and Design Inc.	First Offer - \$50.00	4 / each	\$200.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Florida Engineering and Development 🧕	First Offer - \$2,500.00	4 / each	\$10,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Big Dog Construction Services, Inc.	First Offer - \$2,500.00	4 / each	\$10,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Interstate Construction, LLC.	First Offer - \$3,000.00	4 / each	\$12,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2120688B101-87 Line Items: GUARDRAIL RESET						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Interstate Construction, LLC.	First Offer - \$15.00	100 / linear foot	\$1,500.00		Y	

Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	
C&I Construction and Design Inc.	First Offer - \$20.00	100 / linear foot	\$2,000.00	Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2:	·
Continental Construction USA	First Offer - \$20.00	100 / linear foot	\$2,000.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Florida Engineering and Development 👔	First Offer - \$25.00	100 / linear foot	\$2,500.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Big Dog Construction Services, Inc.	First Offer - \$150.00	100 / linear foot	\$15,000.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		

PNC2120688B101-88 Line Items: ANTI-GRAFFITI COATING, NON-SACRIFICIAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C&I Construction and Design Inc.	First Offer - \$1.00	200 / square foot	\$200.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Continental Construction USA 👔	First Offer - \$3.00	200 / square foot	\$600.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$5.00	200 / square foot	\$1,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Florida Engineering and Development 🙀	First Offer - \$10.00	200 / square foot	\$2,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Big Dog Construction Services, Inc.	First Offer - \$10.00	200 / square foot	\$2,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PNC2120688B101-89 Line Items: IRRIGATION SYSTEM REPAIRS - PIPING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C&I Construction and Design Inc. 👔	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Florida Engineering and Development 👔	First Offer - \$7.00	1000 / linear foot	\$7,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Big Dog Construction Services, Inc.	First Offer - \$8.00	1000 / linear foot	\$8,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Continental Construction USA	First Offer - \$15.00	1000 / linear foot	\$15,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Interstate Construction, LLC.	First Offer - \$25.00	1000 / linear foot	\$25,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PNC2120688B1--01-90 Line Items: IRRIGATION SYSTEM REPAIRS - HEADS

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$20.00	100 / each	\$2,000.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$25.00	100 / each	\$2,500.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Continental Construction USA 👔	First Offer - \$40.00	100 / each	\$4,000.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$50.00	100 / each	\$5,000.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$98.00	100 / each	\$9,800.00		Y
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

PNC2120688B1–01-91 Line Items: SODDING (Typical Bahia or St. Augustine)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Continental Construction USA 🙀	First Offer - \$5.00	5000 / square yard	\$25,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Florida Engineering and Development 👔	First Offer - \$7.00	5000 / square yard	\$35,000.00		Y				
Product Code: Agency Notes:	- -	Supplier Product Code: Supplier Notes:							
Interstate Construction, LLC.	First Offer - \$8.00	5000 / square yard	\$40,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
C&I Construction and Design Inc. 👔	First Offer - \$10.00	5000 / square yard	\$50,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Big Dog Construction Services, Inc.	First Offer - \$14.20	5000 / square yard	\$71,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PNC2120688B101-92 Line Items: MULCH MATERIAL (Furnish & Install)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C&I Construction and Design Inc.	First Offer - \$1.00	500 / square yard	\$500.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Continental Construction USA	First Offer - \$1.00	500 / square yard	\$500.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$2.50	500 / square yard	\$1,250.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Florida Engineering and Development 👔	First Offer - \$5.50	500 / square yard	\$2,750.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Big Dog Construction Services, Inc.	First Offer - \$14.20	500 / square yard	\$7,100.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PNC2120688B101-93 Line Items: WATER FOR PLANT ESTABLISHMENT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C&I Construction and Design Inc.	First Offer - \$1.00	500 / kilogallon	\$500.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Continental Construction USA 👔	First Offer - \$5.00	500 / kilogallon	\$2,500.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Interstate Construction, LLC.	First Offer - \$8.00	500 / kilogallon	\$4,000.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Big Dog Construction Services, Inc.	First Offer - \$22.00	500 / kilogallon	\$11,000.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Florida Engineering and Development 👔	First Offer - \$87.50	500 / kilogallon	\$43,750.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

PNC2120688B101-94 Line Items: LANDSCAPE COMPLETE - PLANTS - 1 gal including Approved Planting Soil Mix								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C&I Construction and Design Inc.	First Offer - \$5.00	50 / each	\$250.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Continental Construction USA	First Offer - \$5.00	50 / each	\$250.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Interstate Construction, LLC.	First Offer - \$15.00	50 / each	\$750.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Florida Engineering and Development 👔	First Offer - \$17.50	50 / each	\$875.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Big Dog Construction Services, Inc.	First Offer - \$62.00	50 / each	\$3,100.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

PNC2120688B101-95 Line Items: LANDSCAPE COMPLETE - PLANTS - 3 gal including Approved Planting Soil Mix							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C&I Construction and Design Inc.	First Offer - \$6.00	50 / each	\$300.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Continental Construction USA 👔	First Offer - \$6.00	50 / each	\$300.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Interstate Construction, LLC.	First Offer - \$20.00	50 / each	\$1,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Florida Engineering and Development 👔	First Offer - \$30.00	50 / each	\$1,500.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Big Dog Construction Services, Inc.	First Offer - \$102.00	50 / each	\$5,100.00		Y		

Prod	uct (Code:
Ager	ncy N	otes:

Supplier Product Code: Supplier Notes:

PNC2120688B101-96 Line Items: LANDSCAPE COMPLETE - PLANTS - 5 gal including Approved Planting Soil Mix								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C&I Construction and Design Inc. 👔	First Offer - \$7.00	50 / each	\$350.00		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Continental Construction USA 👔	First Offer - \$7.00	50 / each	\$350.00		Y			
Product Code:	uct Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Interstate Construction, LLC.	First Offer - \$25.00	50 / each	\$1,250.00		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Florida Engineering and Development 👔	First Offer - \$87.50	50 / each	\$4,375.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Big Dog Construction Services, Inc.	First Offer - \$225.00	50 / each	\$11,250.00		Y			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

PNC2120688B101-97 Line Items: LANDSCAPE COMPLETE - PLANTS - 7 gal including Approved Planting Soil Mix							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C&I Construction and Design Inc. 👔	First Offer - \$8.00	25 / each	\$200.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Continental Construction USA 🙀	First Offer - \$8.00	25 / each	\$200.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Interstate Construction, LLC.	First Offer - \$30.00	25 / each	\$750.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Florida Engineering and Development 👔	First Offer - \$117.00	25 / each	\$2,925.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Big Dog Construction Services, Inc.	First Offer - \$250.00	25 / each	\$6,250.00		Y		
Product Code:		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

PNC2120688B101-98 Line Items: LANDSCAPE COMPLETE - PLANTS - 25 gal including Approved Planting Soil Mix						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Continental Construction USA 🙀	First Offer - \$10.00	14 / each	\$140.00		Y	
Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:				
C&I Construction and Design Inc. 👔	First Offer - \$25.00	14 / each	\$350.00		Y	
Product Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:				
Interstate Construction, LLC.	First Offer - \$250.00	14 / each	\$3,500.00		Y	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Big Dog Construction Services, Inc.	First Offer - \$370.00	14 / each	\$5,180.00		Y	
Product Code:		Supplier Product Co	ode:			

Agency Notes.		Supplier Notes.			
Florida Engineering and Development 👔	First Offer - \$874.50	14 / each	\$12,243.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120688B101-99 Line Items: SINGLE TRUI	NK PALM UP TO 12 OverAll FLC	ORIDA #1			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Continental Construction USA 👔	First Offer - \$300.00	20 / each	\$6,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:	First Offer #450.00	Supplier Notes:	¢0,000,00		v
C&I Construction and Design Inc. 👔	First Offer - \$450.00	20 / each	\$9,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$600.00	20 / each	\$12,000.00		Y
Product Code:		Supplier Product Code:	-		-
Agency Notes:		Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$600.00	20 / each	\$12,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes: Florida Engineering and Development 👔	First Offer - \$1,050.00	Supplier Notes: 20 / each	\$21,000.00		Y
					•
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Supplier Continental Construction USA 🍃	Unit Price First Offer - \$300.00	Qty/Unit 10 / each	Total Price \$3,000.00	Attch.	Docs Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C&l Construction and Design Inc. 👔	First Offer - \$450.00	10 / each	\$4,500.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$500.00	10 / each	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$600.00	10 / each	\$6,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$1,750.00	10 / each	\$17,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120688B101-101 Line Items: NATIVE FLC					
Supplier	Unit Price		Total Price	Attch.	Docs
Continental Construction USA 🔓	First Offer - \$300.00	15 / each	\$4,500.00		Y

Broward County Board of County Commissioners

Supplier Notes:

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Continental Construction USA 👔	First Offer - \$300.00	15 / each	\$4,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
C&I Construction and Design Inc. 👔	First Offer - \$450.00	15 / each	\$6,750.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Big Dog Construction Services, Inc.	First Offer - \$720.00	15 / each	\$10,800.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Agency Notes:

	Broward County Board of County Commissioners		Exhibit 1 PNC212068 Page 36 of 48		
Interstate Construction, LLC. Product Code:	First Offer - \$750.00	15 / each Supplier Product Code:	\$11,250.00		Y
Agency Notes: Florida Engineering and Development 🍯	First Offer - \$1,000.00	Supplier Notes: 15 / each	\$15,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	+ 10,000100		
PNC2120688B101-102 Line Items: RELOCATION OF P	-	-			
Supplier	Unit Price First Offer - \$300.00	e Qty/Unit	Total Price	Attch.	Docs Y
C&I Construction and Design Inc.	First Oller - \$300.00	Supplier Product Code:	\$4,500.00		T
Agency Notes: Continental Construction USA	First Offer - \$300.00	Supplier Notes: 15 / each	\$4,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			-
Interstate Construction, LLC.	First Offer - \$350.00		\$5,250.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$400.00		\$6,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$1,750.00	15 / each	\$26,250.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120688B101-103 Line Items: RELOCATION OF SI	MALL TREES, PLANTS, A	AND GROUND COVER			
Supplier	Unit Price	-	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$50.00	35 / each	\$1,750.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$50.00	35 / each	\$1,750.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	\$4.005.00		.v.
Interstate Construction, LLC. Product Code:	First Offer - \$55.00	35 / each Supplier Product Code:	\$1,925.00		Y
Agency Notes:		Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$350.00	35 / each	\$12,250.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$820.00	35 / each	\$28,700.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120688B101-104 Line Items: TREE REMOVAL IN					
Supplier		e Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc.	First Offer - \$300.00		\$7,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 🔓	First Offer - \$300.00	25 / each	\$7,500.00		Y

ц.

First Offer - \$400.00 25 / each

Supplier Product Code: Supplier Notes:

\$10,000.00

Y

	Broward County Boar County Commissione		Page	Exhibit 1 37 of 48	PNC2120688B1
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$800.00	25 / each	\$20,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 🙀	First Offer - \$1,170.00	25 / each	\$29,250.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120688B1-01-105 Line Items: PULL & JUNCTION E	BOXES, (Furnish & Inst	all), PULL BOX			
Supplier		Qty/Unit	Total Price	Attch.	Docs
Continental Construction USA	First Offer - \$400.00	100 / each	\$40,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&l Construction and Design Inc. 👔	First Offer - \$500.00	100 / each	\$50,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$500.00	100 / each	\$50,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$650.00	100 / each	\$65,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120688B101-106 Line Items: GROUND ROD 1/2 X	(10 COPPER CLAD				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&l Construction and Design Inc. 👔	First Offer - \$100.00	100 / each	\$10,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$250.00	100 / each	\$25,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$300.00	100 / each	\$30,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$350.00	100 / each	\$35,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120688B101-107 Line Items: SINGLE POST SIGN,					
Supplier		Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc.	First Offer - \$200.00	25 / each	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$200.00	25 / each	\$5,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$300.00	25 / each	\$7,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc. Product Code:	First Offer - \$300.00	25 / each Supplier Product Code:	\$7,500.00		Y

Broward County Board of	
County Commissioners	

Agency Notes:

Florida Engineering and Development

Product Code: Agency Notes:

Supplier Notes: First Offer - \$525.00 25 / each

Y

\$13,125.00

Supplier Product Code: Supplier Notes:

PNC2120688B101-108	Line Items: SINGLE POST SIGN, RELOCATE
--------------------	--

Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs
Continental Construction USA 👔	First Offer - \$145.00	100 / assembly	\$14,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$150.00	100 / assembly	\$15,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$235.00	100 / assembly	\$23,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc. 👔	First Offer - \$250.00	100 / assembly	\$25,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$270.50	100 / assembly	\$27,050.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120688B1--01-109 Line Items: SINGLE POST SIGN, REMOVE

Unit Price	e Qty/Unit	Total Price	Attch.	Docs
First Offer - \$100.00	10 / assembly	\$1,000.00		Y
	Supplier Product Code: Supplier Notes:			
First Offer - \$110.00	10 / assembly	\$1,100.00		Y
	Supplier Product Code: Supplier Notes:			
First Offer - \$120.00	10 / assembly	\$1,200.00		Y
	Supplier Product Code: Supplier Notes:			
First Offer - \$150.00	10 / assembly	\$1,500.00		Y
	Supplier Product Code: Supplier Notes:			
First Offer - \$300.00	10 / assembly	\$3,000.00		Y
	Supplier Product Code: Supplier Notes:			
	First Offer - \$100.00 First Offer - \$110.00 First Offer - \$120.00 First Offer - \$150.00	First Offer - \$100.0010 / assemblySupplier Product Code: Supplier Notes:First Offer - \$110.0010 / assemblySupplier Product Code: Supplier Notes:First Offer - \$120.0010 / assemblyFirst Offer - \$120.0010 / assemblySupplier Product Code: Supplier Notes:First Offer - \$120.0010 / assemblySupplier Product Code: Supplier Notes:First Offer - \$150.0010 / assemblyFirst Offer - \$300.0010 / assemblySupplier Product Code: Supplier Notes:First Offer - \$300.0010 / assembly	First Offer - \$100.0010 / assembly\$1,000.00Supplier Product Code: Supplier Notes:\$1,000.00First Offer - \$110.0010 / assembly\$1,100.00Supplier Product Code: Supplier Notes:\$1,100.00First Offer - \$120.0010 / assembly\$1,200.00First Offer - \$120.0010 / assembly\$1,200.00Supplier Product Code: Supplier Notes:\$1,200.00First Offer - \$150.0010 / assembly\$1,500.00First Offer - \$150.0010 / assembly\$1,500.00First Offer - \$300.0010 / assembly\$3,000.00Supplier Product Code: Supplier Product Code:\$3,000.00First Offer - \$300.00Supplier Product Code:	First Offer - \$100.0010 / assembly\$1,000.00Supplier Product Code: Supplier Notes:\$1,100.00First Offer - \$110.0010 / assembly\$1,100.00Supplier Product Code: Supplier Notes:\$1,200.00First Offer - \$120.0010 / assembly\$1,200.00Supplier Product Code: Supplier Notes:\$1,200.00First Offer - \$120.0010 / assembly\$1,200.00First Offer - \$150.0010 / assembly\$1,500.00First Offer - \$150.0010 / assembly\$1,500.00First Offer - \$300.0010 / assembly\$3,000.00Supplier Product Code: Supplier Notes:\$3,000.00First Offer - \$300.0010 / assembly\$3,000.00

PNC2120688B1--01-110 Line Items: PAINTED PAVEMENT MARKINGS, STANDARD, WHITE / YELLOW / BLUE SOLID, 6

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$1.00	500 / linear foot	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$1.00	500 / linear foot	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$2.00	500 / linear foot	\$1,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

	Broward County Bo County Commissio		Page	Exhibit 1 39 of 48	NC2120688B1
Interstate Construction, LLC.	First Offer - \$4.50	500 / linear foot	\$2,250.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	. ,		
Big Dog Construction Services, Inc.	First Offer - \$75.00	500 / linear foot	\$37,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120688B101-111 Line Items: PAINTED P	AVEMENT MARKINGS, STANI	DARD, WHITE / YELLOW / BL	UE , SKIP, 6		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$1.00	500 / linear foot	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 🕞	First Offer - \$1.00	500 / linear foot	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 달	First Offer - \$1.00	500 / linear foot	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$4.25	500 / linear foot	\$2,125.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$75.00	500 / linear foot	\$37,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120688B101-112 Line Items: PAINTED P	AVEMENT MARKINGS, STANI	DARD, WHITE, MESSAGE			
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$20.0	0 25 / each	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 🙀	First Offer - \$20.0	0 25 / each	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Florida Engineering and Development 👔	First Offer - \$100.00	25 / each	\$2,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Big Dog Construction Services, Inc.	First Offer - \$150.00	25 / each	\$3,750.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	
Interstate Construction, LLC.	First Offer - \$250.00	25 / each	\$6,250.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	

PNC2120688B101-113 Line Items: PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, ARROWS					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$20.00	25 / each	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$20.00	25 / each	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$80.00	25 / each	\$2,000.00		Y

Y

Y

Υ

		Broward County Board of County Commissioners		Exhibit 1 Page 40 of 48	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$150.00	25 / each	\$3,750.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$250.00	25 / each	\$6,250.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120688B1--01-114 Line Items: THERMOPLASTIC PAVEMENT MARKINGS, STANDARD, WHITE / YELLOW / BLUE SOLID, 6

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$1.00	500 / linear foot	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$1.00	500 / linear foot	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$4.00	500 / linear foot	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$5.00	500 / linear foot	\$2,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$100.00	500 / linear foot	\$50,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120688B1--01-115 Line Items: THERMOPLASTIC PAVEMENT MARKINGS, STANDARD, WHITE / YELLOW / BLUE , SKIP, 6

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$1.00	500 / linear foot	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$1.00	500 / linear foot	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$2.00	500 / linear foot	\$1,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$5.00	500 / linear foot	\$2,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$100.00	500 / linear foot	\$50,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120688B1--01-116 Line Items: THERMOPLASTIC PAVEMENT MARKINGS, STANDARD, WHITE, MESSAGE

Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$20.00	25 / each	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$20.00	25 / each	\$500.00		Y
Product Code:		Supplier Product Code:			

	Broward County Bo County Commission			Exhibit 1 41 of 48	NC2120688E
Agency Notes:		Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$75.0	0 25 / each	\$1,875.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 🕞	First Offer - \$150.0	0 25 / each	\$3,750.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$350.0		\$8,750.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120688B101-117 Line Items: THERMOP	LASTIC PAVEMENT MARKING	SS, STANDARD, WHITE, ARRO	WS		
Supplier	Unit Pri	ce Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$20.0	0 25 / each	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 달	First Offer - \$20.0	0 25 / each	\$500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$75.0	0 25 / each	\$1,875.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$120.0	0 25 / each	\$3,000.00		Y
Product Code:		Supplier Product Code:			
		Supplier Notes:			
Agency Notes:	First Offer - \$350.0	Supplier Notes:	\$8,750.00		Y
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes:	First Offer - \$350.0	Supplier Notes:	\$8,750.00		Y
Agency Notes: Interstate Construction, LLC. Product Code:		Supplier Notes: 25 / each Supplier Product Code: Supplier Notes:		re G	Y
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes:	- CONDUCTORS, (Furnish & I	Supplier Notes: 25 / each Supplier Product Code: Supplier Notes:		e G Attch.	Y Docs
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-118 Line Items: LIGHTING	- CONDUCTORS, (Furnish & I	Supplier Notes: 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to #	6 American Wir		
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-118 Line Items: LIGHTING Supplier C&I Construction and Design Inc.	- CONDUCTORS, (Furnish & I Unit Price	Supplier Notes: 0 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to # Qty/Unit	6 American Wir Total Price		Docs
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-118 Line Items: LIGHTING Supplier C&I Construction and Design Inc.	- CONDUCTORS, (Furnish & I Unit Price	Supplier Notes: 0 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to # Qty/Unit 1500 / linear foot Supplier Product Code:	6 American Wir Total Price		Docs
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-118 Line Items: LIGHTING Supplier C&I Construction and Design Inc. Product Code: Agency Notes: Continental Construction USA Product Code:	- CONDUCTORS, (Furnish & I Unit Price First Offer - \$4.00	Supplier Notes: 0 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to # Qty/Unit 1500 / linear foot Supplier Product Code: Supplier Notes:	6 American Wir Total Price \$6,000.00		Docs Y
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-118 Line Items: LIGHTING Supplier C&I Construction and Design Inc. Cell Construction and Design Inc. Product Code: Agency Notes: Continental Construction USA Product Code: Agency Notes:	- CONDUCTORS, (Furnish & I Unit Price First Offer - \$4.00	Supplier Notes: 0 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to # Qty/Unit 1500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code:	6 American Wir Total Price \$6,000.00		Docs Y
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-118 Line Items: LIGHTING Supplier C&I Construction and Design Inc. Product Code: Agency Notes: Continental Construction USA Product Code: Agency Notes: Florida Engineering and Development Product Code:	- CONDUCTORS, (Furnish & I Unit Price First Offer - \$4.00 First Offer - \$4.00	Supplier Notes: 0 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to # Qty/Unit 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	6 American Wir Total Price \$6,000.00 \$6,000.00		Docs Y Y
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-118 Line Items: LIGHTING Supplier C&I Construction and Design Inc. C&I Construction and Design Inc. Product Code: Agency Notes: Continental Construction USA Product Code: Agency Notes: Florida Engineering and Development Product Code: Agency Notes:	- CONDUCTORS, (Furnish & I Unit Price First Offer - \$4.00 First Offer - \$4.00	Supplier Notes: 0 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to # Qty/Unit 1500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Product Code:	6 American Wir Total Price \$6,000.00 \$6,000.00		Docs Y Y
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-118 Line Items: LIGHTING Supplier C&I Construction and Design Inc. C&I Construction and Design Inc. Product Code: Agency Notes: Continental Construction USA Product Code: Agency Notes: Florida Engineering and Development Product Code: Agency Notes: Iterstate Construction, LLC.	- CONDUCTORS, (Furnish & I Unit Price First Offer - \$4.00 First Offer - \$4.00 First Offer - \$5.00	Supplier Notes: 0 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to # Qty/Unit 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot	6 American Wir Total Price \$6,000.00 \$6,000.00 \$7,500.00		Docs Y Y
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-118 Line Items: LIGHTING Supplier C&I Construction and Design Inc. Product Code: Agency Notes: Continental Construction USA Product Code: Agency Notes: Florida Engineering and Development Product Code: Agency Notes: Interstate Construction, LLC. Product Code:	- CONDUCTORS, (Furnish & I Unit Price First Offer - \$4.00 First Offer - \$4.00 First Offer - \$5.00	Supplier Notes: 0 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to # Qty/Unit 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot	6 American Wir Total Price \$6,000.00 \$6,000.00 \$7,500.00		Docs Y Y
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-118 Line Items: LIGHTING Supplier C&I Construction and Design Inc. C&I Construction and Design Inc. Product Code: Agency Notes: Continental Construction USA Product Code: Agency Notes: Florida Engineering and Development Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes:	- CONDUCTORS, (Furnish & I Unit Price First Offer - \$4.00 First Offer - \$4.00 First Offer - \$5.00 First Offer - \$12.00	Supplier Notes: 0 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to # Qty/Unit 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot	6 American Wir Total Price \$6,000.00 \$6,000.00 \$7,500.00 \$18,000.00	Attch.	Docs Y Y
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC21206888B101-118 Line Items: LIGHTING Supplier C&I Construction and Design Inc. C&I Construction and Design Inc. Product Code: Agency Notes: Continental Construction USA Product Code: Agency Notes: Florida Engineering and Development Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes:	- CONDUCTORS, (Furnish & I Unit Price First Offer - \$4.00 First Offer - \$4.00 First Offer - \$5.00 First Offer - \$12.00	Supplier Notes: 0 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to # Qty/Unit 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Notes: 1500 / linear foot Supplier Notes: 1500 / linear foot	6 American Wir Total Price \$6,000.00 \$6,000.00 \$7,500.00 \$18,000.00	Attch.	Docs Y Y Y
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-118 Line Items: LIGHTING Supplier C&I Construction and Design Inc. Product Code: Agency Notes: Continental Construction USA Product Code: Agency Notes: Florida Engineering and Development Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: Interstate Construction, LLC.	- CONDUCTORS, (Furnish & I Unit Price First Offer - \$4.00 First Offer - \$4.00 First Offer - \$5.00 First Offer - \$12.00	Supplier Notes: 0 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to # Qty/Unit 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Notes: 1500 / linear foot Supplier Notes: 1500 / linear foot Supplier Notes: 1500 / linear foot	6 American Wir Total Price \$6,000.00 \$6,000.00 \$7,500.00 \$18,000.00	Attch.	Docs Y Y
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-118 Line Items: LIGHTING Supplier C&I Construction and Design Inc. C&I Construction and Design Inc. Product Code: Agency Notes: Continental Construction USA Product Code: Agency Notes: Florida Engineering and Development Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-119 Line Items: LIGHTING Supplier Florida Engineering and Development Product Code:	- CONDUCTORS, (Furnish & I Unit Price First Offer - \$4.00 First Offer - \$4.00 First Offer - \$5.00 First Offer - \$5.00	Supplier Notes: 0 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to # Qty/Unit 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code:	6 American Wir Total Price \$6,000.00 \$6,000.00 \$7,500.00 \$18,000.00 \$18,000.00 an Wire Gauge Total Price	Attch.	Docs Y Y Y Y
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-118 Line Items: LIGHTING Supplier C&I Construction and Design Inc. Call Construction and Design Inc. Product Code: Agency Notes: Continental Construction USA Product Code: Agency Notes: Florida Engineering and Development Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-119 Line Items: LIGHTING Supplier Florida Engineering and Development Product Code: Agency Notes:	- CONDUCTORS, (Furnish & I Unit Price First Offer - \$4.00 First Offer - \$4.00 First Offer - \$5.00 First Offer - \$12.00 - GROUND CONDUCTOR, (Fu Unit Price First Offer - \$5.00	Supplier Notes: 0 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to # Qty/Unit 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Notes: 1500 / linear foot	6 American Wir Total Price \$6,000.00 \$6,000.00 \$7,500.00 \$18,000.00 \$18,000.00 an Wire Gauge Total Price \$2,500.00	Attch.	Docs Y Y Y Y Docs Y
Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-118 Line Items: LIGHTING Supplier C&I Construction and Design Inc. Call Construction and Design Inc. Product Code: Agency Notes: Continental Construction USA Product Code: Agency Notes: Florida Engineering and Development Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: Interstate Construction, LLC. Product Code: Agency Notes: PNC2120688B101-119 Line Items: LIGHTING Supplier Florida Engineering and Development Product Code:	- CONDUCTORS, (Furnish & I Unit Price First Offer - \$4.00 First Offer - \$4.00 First Offer - \$5.00 First Offer - \$5.00	Supplier Notes: 0 25 / each Supplier Product Code: Supplier Notes: nstall), INSULATED, #12 to # Qty/Unit 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Product Code: Supplier Notes: 1500 / linear foot Supplier Notes: 1500 / linear foot	6 American Wir Total Price \$6,000.00 \$6,000.00 \$7,500.00 \$18,000.00 \$18,000.00 an Wire Gauge Total Price	Attch.	Docs Y Y Y Y

	Broward County Bo County Commissic		Page	Exhibit 1 42 of 48	1
Continental Construction USA 🍯	First Offer - \$7.00	500 / linear foot	\$3,500.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$25.00	500 / linear foot	\$12,500.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120688B101-120 Line Items: LIGHTING - COND					
Supplier		Qty/Unit	Total Price	Attch. Docs Y	
C&l Construction and Design Inc.	First Offer - \$10.00	500 / linear foot	\$5,000.00	T	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 🍙	First Offer - \$10.00	500 / linear foot	\$5,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$12.00	500 / linear foot	\$6,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$20.00	500 / linear foot	\$10,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120688B101-121 Line Items: MOBILIZATION (C	ONSTRUCTION ONLY)			
Supplier	Unit Pr	ice Qty/Unit	Total Price	Attch. Docs	
C&I Construction and Design Inc. 👔	First Offer - \$2,000.	00 50 / each	\$100,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$2,000.	00 50 / each	\$100,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$3,000.		\$150,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development	First Offer - \$3,250.		\$162,500.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$3,800.	00 50 / each	\$190,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120688B101-122 Line Items: MAINTENANCE OI					
Supplier		ice Qty/Unit	Total Price	Attch. Docs	
Continental Construction USA	First Offer - \$1,300.		\$260,000.00	Y	
Product Code: Agency Notes:	First Office d1 000	Supplier Product Code: Supplier Notes:	¢200.000.00	Y	
C&l Construction and Design Inc.	First Offer - \$1,800.		\$360,000.00	Y	
Product Code: Agency Notes:	First Office d1 000	Supplier Product Code: Supplier Notes:	¢200.000.00	Y	
Interstate Construction, LLC. Product Code:	First Offer - \$1,800.	00 200 / site Supplier Product Code:	\$360,000.00	Y	
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$2,000.	00 200 / site	\$400,000.00	Y	

PNC2120688B1--01-123 Line Items: MAINTENANCE OF TRAFFIC-BUS BAY (Refer to Attachment A)

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Continental Construction USA 👔	First Offer - \$750.00	50 / site	\$37,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc. 👔	First Offer - \$1,500.00	50 / site	\$75,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$1,500.00	50 / site	\$75,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$2,000.00	50 / site	\$100,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$4,250.00	50 / site	\$212,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120688B1--01-124 Line Items: BOLTED BIKE RACK INSTALLATION ONLY INCLUDING MANUFACTURER APPROVED HARDWARE

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$100.00	150 / each	\$15,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$110.00	150 / each	\$16,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$150.00	150 / each	\$22,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$205.00	150 / each	\$30,750.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$1,800.00	150 / each	\$270,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120688B1--01-125 Line Items: BOLTED BIKE RACK RELOCATION INCLUDING MANUFACTURER APPROVED HARDWARE

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$100.00	35 / each	\$3,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$150.00	35 / each	\$5,250.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$165.00	35 / each	\$5,775.00		Y
Product Code:		Supplier Product Code:			

	Broward County Board County Commissione			Exhibit 1 44 of 48	1
Agency Notes:		Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$235.00	35 / each	\$8,225.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$1,500.00	35 / each	\$52,500.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
PNC2120688B101-126 Line Items: BOLTED BENCH I					
Supplier		e Qty/Unit	Total Price	Attch. Docs	
C&I Construction and Design Inc. 👔	First Offer - \$150.00	100 / each	\$15,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$205.00	100 / each	\$20,500.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$220.00	100 / each	\$22,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$245.00	100 / each	\$24,500.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$1,800.00	100 / each	\$180,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120688B1--01-127 Line Items: BOLTED BENCH RELOCATION INCLUDING MANUFACTURER APPROVED HARDWARE

Supplier C&I Construction and Design Inc. 🍯	Unit Price First Offer - \$150.00	Qty/Unit 35 / each	Total Price \$5,250.00	Attch.	Docs Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$235.00	35 / each	\$8,225.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$250.00	35 / each	\$8,750.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$265.00	35 / each	\$9,275.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$1,500.00	35 / each	\$52,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120688B101-128 Line Items: BOLTED/IN GROUND TRASH CAN INSTALLATION ONLY INCLUDING MANUFACTURER APPROVED HAR							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
C&l Construction and Design Inc. 👔	First Offer - \$125.00	150 / each	\$18,750.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Continental Construction USA 👔	First Offer - \$125.00	150 / each	\$18,750.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

	e 45 of 48 PNC2120688B1
\$21,000.00	Y
\$35,250.00	Y
\$90,000.00	Y
	ROVED HARDWARE
Total Price	Attch. Docs
\$3,500.00	Y
\$4,200.00	Y
\$4,375.00	Y
\$8,225.00	Y
\$23,625.00	Y
Total Price	Attch. Docs
\$3,000.00	Y
\$4,000.00	Y
\$4,500.00	Y
\$4,500.00	Y
\$6,000.00	Y
	\$6,000.00

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C&I Construction and Design Inc. 👔	First Offer - \$20.00	40 / hour	\$800.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$20.00	40 / hour	\$800.00		Y

	Broward County Board of County Commissioners		Exhibit 1 Page 46 of 48	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Interstate Construction, LLC.	First Offer - \$60.00	40 / hour	\$2,400.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Florida Engineering and Development 👔	First Offer - \$60.00	40 / hour	\$2,400.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Big Dog Construction Services, Inc.	First Offer - \$91.00	40 / hour	\$3,640.00	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

PNC2120688B101-132	ine Items: PREFABRICATED BUS SHELTER RELOCATION INCLUDING ASSOCIATED ELECTRICAL WORK AND M	Α
	The Religion of the relation in the optime associated electricate work and in	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Continental Construction USA 👔	First Offer - \$2,000.00	25 / each	\$50,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc. 👔	First Offer - \$3,500.00	25 / each	\$87,500.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$5,130.00	25 / each	\$128,250.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$6,000.00	25 / each	\$150,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Big Dog Construction Services, Inc.	First Offer - \$6,200.00	25 / each	\$155,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2120688B1--01-133 Line Items: INSTALLATION OF PREFABRICATED BUS SHELTER INCLUDING ASSOCIATED ELECTRICAL WORK

Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs
Big Dog Construction Services, Inc.	First Offer - \$4,800.00	100 / each	\$480,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Interstate Construction, LLC.	First Offer - \$5,000.00	100 / each	\$500,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Continental Construction USA 👔	First Offer - \$5,000.00	100 / each	\$500,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
C&I Construction and Design Inc. 👔	First Offer - \$5,250.00	100 / each	\$525,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Florida Engineering and Development 👔	First Offer - \$7,000.00	100 / each	\$700,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Supplier Totals

f Continental Construction USA Bid Contact Juan Jurado **\$2,776,660.00 (133/133 items)** Address **95 Merryck Way, suite 480**

Broward County Board of Page 47 of 48 **County Commissioners** info@usacontinental.com Miami, FL 33134 Ph 305-704-7396 (Status: Authorized on Aug 19, 2020) **Head Attch: Supplier Notes:** ılılı \$350,000.00 f C&I Construction and Design Inc. \$3,385,915.00 (133/133 items) **Carlos Maldonado** Address 14031 SW 143rd Court juan@cicdinc.com Unit 6 Ph 786-287-9903 Miami, FL 33186 Supplier Code VS000013012 Qualifications DBE SB (Status: Authorized on Aug 18, 2020) **Supplier Notes:** Head Attch: U, \$350,000.00 f Interstate Construction, LLC. \$3,687,400.00 (133/133 items) Address 2501 SW 160th Ave **Gustavo H Graupera** estimating@interstate13.com Suite 100 Ph 754-208-2525 Miramar, FL 33027 Qualifications CBE DBE MBE **Supplier Notes: Head Attch:** N \$350,000.00 f Florida Engineering and Development \$3,995,193.00 (133/133 items) Address 12076 NW 98 AVENUE

Bid Contact raul cabrera raul@floridaengineering.net Ph 305-820-8333 Fax 305-820-9341

Bid Bond 🙀 (Status: Authorized on Aug 19, 2020)

Bid Notes We attached the following doucments in the fist item (Silt Fence): Licenses, Certification, Insurance, Equipment List, Documentation of Good Faith, Bidder's Assurance and Project Manager Resume.

Agency Notes:

Bid Bond

Allowance

Bid Contact

Bid Bond

Agency Notes:

Bid Allowance

Bid Contact

Agency Notes:

Bid Allowance

Bid

Agency Notes:

Head

Supplier Notes: We attached the following doucments in the Attch: fist item (Silt Fence): Licenses, Certification, ıN Insurance, Equipment List, Documentation of Good Faith, Bidder's Assurance and Project Manager Resume.

HIALEAH GARDENS, FL 33018

\$350,000.00

Rid Allowance

Big Dog Construction Services, Inc.

Bid Contact Thomas Lindner tlindner@bigdogcsi.com Ph 954-757-8015

\$4,839,450.50 (127/133 items)

Address 3730 Coconut Creek Pkwy., Ste. 180 Coconut Creek, FL 33066 Coconut Creek, FL 33066

Bid Notes Bid Bond copy attached. Original hand delivered 8/19/20.

Agency Notes:

Supplier Notes: Bid Bond copy attached. Original hand delivered

8/19/20.